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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their
own words as far as practicable.

1. Answer any five from the following: 2x5=10
@l #Hofe 2w Ted we ¢

1)  Show the number of unpaired electrons in
the elements having atomic numbers 14 and

25 according to Hund's rule.

T A MR 14 G2 25 =7l @iz (3
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11)  Which of the following has higher atomic/

ionic radius and why?
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111) State with example the hard and soft acid-

base principle (HSAB principle).
Tnizaepiz HSAB-TIfs( ige 41

iv)  What are the main differences between

standard redox potential and formal potential?
g sfvers g ¢ e e ey g
AldFafe & e

v)  Generally R in RX (alkyl halide, R is alkyl

group) is positive charge. Give example of

one compound where R is negative charge.

AlgiFore: SR FiaReed (RX) Suefes aFf
(R) 49N BIE | a5 @6 (& (@Iesid Sviggel
e @A R o6 A< BIE |

vi) How will you convert acetylene to
acetaldehyde?

PR ofl el Sntitrafvggce sfHae
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2. Answer any two from the following: 5x2=10
@-(FI K5 & T wis ¢

i)  Deduce an equation for tansfer of energy
from one Bohr orbit to another in hydrogen
atom electron. Calculate the ionization

potential of hydrogen atom.
(Given: R=109700 cm™). 3+2=5
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iii)
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Name different quantum numbers and give
their significances. Give one example of a
compound of hydrogen where oxidation
number of hydrogen is —I. 4+1=5
fafen 4T (PRGN A< (512 G2 O Sl
I 39| 2RISR @I 0o Tnizge s
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Distinguish between pairs with suitable and

visible chemical reaction.

1- butyne and 2- butyne; Acetylene and
Ethylene 21+21=5
ToRye gl AR (e mral fsferfe @iel
ek R RS CE TR I I
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3. Answer any two from the following: 10x2=20
@I 76 &eE O wie 2

)
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a)  Distinguish between Bohr's Model and
Sommerfeld's Model in connection
with the structure of atom. 4
AT 910 RF® @IF GR AT
MCER [ ALl @4
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b) Balance the following chemical
equations by ion-electron method:
2+2=4

SRI-3(ETRGe “lafore WEkie apiee
Rl et fRue 57 ¢

)  Cu+HNO, — Cu(NO;),+NO, +H,0

) K,Cr,0,+H,SO,+FeSO, —
K,SO, +Fe, (SO,), + H,0+Cr, (SO,),

c) The energy expression of H-atom

always shows negative— Justify. 2
RGIEER “fe-iEE At w5
ATS— IR |
Convert: 2x5=10
AT 9 ¢

ag H-C=C-H—-CH,C=C-H

0
[
b) CH,-C-CH,— CH,-CH,-CH,

¢) CH,COOH->CH,CH,
d) CH;MgBr— CH,

e) CH,CH,CH =CH, — CH,CH = CHCH,

[4]



111) Write short notes on:

A<ERe Bl (=12 ¢

a)  Wurtz reaction
RERNTRY

b)  Markownikoff's rule
FICE 9@

¢) Ozonolysis
) () Gl Ee]

d) S 2 reactions
S, 2 Tt

e) E2 reactions
E2 fie
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